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���� (�������� ������

(�������� �����(�������� �����


�)�� 
���� (�������� �����
�)�� 
���� (�������� �����

*�������*�������
 �)�� #��+��
 �)�� #��+��

(������ ,!- *������� .��(������ ,!- *������� .��

����� ,!- *������� .������� ,!- *������� .��/�/�

0����� (1 
��+��� 
 �)��0����� (1 
��+��� 
 �)��

0��� /� #�1 2�
�0��� /� #�1 2�
�
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3�1	����


�) $�� #4 5�6 ����- #������ ���� ���4 #� �������� #�
�'� 0�-

#�����)������� &�+ #� 8����� 8��!� (*��; )��!� ��!��� ������


����� ���< ���1 
���
� 8��=��� >���� *���� � ���=��)
�
�

#�����!�(#�����< 
�!� ��+�
�� ?)#�����!� 
�������� 
�!��� (,!- 
�6�!�


������� ��
��� .A����� $��� ����- 
!���� �B��5 *5��� ���

0�� (���
C� )��� ����� )���� ��- �4 ?�������*���� )��!�1

8��=��� >��������� (1 ��� ?)3D1.(

�����)3D1(


�C� ���)�+� 
�!�� 8��=� 
����� 8�� .� 
����� #����� 
�) *


���)�� E��� 
����� 
!���� F�+4 #� 8���� G;B *�� �� /����

#������ *�1���� .E�C���� 
����� 8�� ��� ,���� 8���� *�� �� #���


����� G;B (1 #������ *�;���� A��� .� .-�� $��B #4 ,�< $�; ��1�#

�� *������ #�
���
 ��B���< ����-� ,!- H!))#������� ��!��� (


���� 
�������)A����� ��!��� .(
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��� ���� ������ $������ #������� #4 
�1�I< &���� *����


��� ����1 ������� $������ A����� ��4 ?
���� 
��� ����� ���� �����


���
 
��� ������ ���� ����� 
���� .#J1 ����-�#��
� /4 $��

#��
����� #������ ������� ���I���?��
��� #��� #4 (�)���� #�1 �;�

�I�� ��I�� #�� �������� ������ $��� ����-� 
����� 
������.

3�2	��������� 	
����

#���� �� ��
� #< ������ ���������#- 0!�+� ��� �4 ��� "� �B K

G��L���� ��1 "� ���5� ��� K)�1 G�5�� #� #���� "�4 #���� #4 ��K(1

8������ 
���)��� 
��������� "���+� >!���6 ������ �
��� #�� #< 
������

#4 (B ������ #�� �;< ���1 
1�������
� #���� �+M �
� &� "�I�

#���� "�4 0��� )�1 �B��- "�;� �4 "�1� �;J1 .
�����1
���+�
�!�

�4 .1� #� "����#��� (��� 
!���� 
���+ ��� ?F�+4 
����� ��
�4 &;�

F�+�� ����� &;� #� 
!�� "� �� �
� .��)-< .�)�
� >!)���� �;B #�

���%�

 .8��� ��I�� ,!- ��N� *������1

��� 
�������
��;���� 8��� ��I�� ,!- ��N� ��� .#���� �
� ��N�6 �����

)#�������� (#���� ��L �
� ,!- 
������� 8���)#���������(��N� �����


!�� ����� ��� #� 
��;���� 8��� "�!-
!���� ���- �
� ,!-��N�6 #�� ?


������)��I��� (8� /%� .

� #�
�O� 
1������ *������ �=�4 #��H!)�� ��� #�������� #�����'

�B����� 
���
 
��� #�����'� ��)-< 1.6 10
19?�����()-4 �����


���� 8���J� #��� 
����� E�� #������� .��������
����� 8��� (B
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(
����� (������!� 
�
� (����� *������ ��5� (1 
��+�
��� 
���������

��P��� ����P��� 8���� 0���� /;��#������ #��
� #�� 
�������� .

����� (!!����� ������� ����%� ��
��� *���� ,)���� ������(10 3 C)?

����� ���������(10 6 C)����� ������� ?(10 9 C)�;�B�.

����)3�1(

K ���� ����� (1 ���� #�����< ��

����:

��'� 
��� &��� ���� ����� (1 *�������'� ��- &�
��#���:

19 18

19

1
1 1.6 10 C 1C= 6.25 10

1.6 10

e
e e


�
 #� ���4 #� G����� &!)�� ���� ������ �
� #�� #4 /4#��!�

#��!� #��!�#�����< !

3�3	��� ��� ���!"�� 	
������ ���!"�

8���� 
����� 
���
 *�������< /��� *��; #� 
���)�� (1 8����� 0�%��


��� E����� /��
� 
����� 
����*�������'� .
������ 8�;��1 �;���

?
�����G��L� (��+ S��� T�� 
�) �4 
����� 8��� /%� .�;< #���

���< ���� ���J1 ���� �I�� *�
��� �4 *�������'� U�� 8����� *��1

&������ ,!- ?
���
 �4 
���� 
���� 
����� *���.
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3�4�#�� ��� �$��
��

����� #4 0������ #�&�+�� ��+�
� ����� ����� ���� �������� ���� #�

���� �������� .)��� (1 
!��� #��� #4 #��� (��� ������� U�� $��B�


���� .1
���- F�+4� 
! �� ���� $���1 ?������!� ����! �� (1 ������ 0!�+�


! �� "���.

3�3%	&$�
�� ������

#��� ?#������� ?���� 
���)�� (1 ����8���� ��L �����; (1 *�������'�

��!+�� 
���� 
����� .�)�
� �� ��� .�
� *�������'� G;B ,!- >!)�

(free electrons)�,�
������� G;B�$��
.
! ���� ������1

 .G;B (1 *�������'� 
��� #��

�6� �� (1� 
�����- ��
������ 
�!��� 
����� 
!��� #4 ���� *�B��

����� ��L (���� �
� E�� ��- ������� ��- �
�� ��� ����� /��
�


����)�� 
����� (1 "�1 
������� *����� ���� ��-� ?(������ ����� .

������!� 
! ���� 
��������� $C
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3�3	�#� �� ������ '

�� U�� (1 *�������'� 
����L #���?��
�8���� ?C�� &�+��� A������

#� �����6� .�)�
�6 ���� ���� ���� ��� 
������ 8�;��� 
)�����

���I�� .� ���!- .I�� 
����+ *����� H�
�6 ������ G;B #4 ���$�����

,��� ;< ��1 
�)�� A��� $��� #%� ?������ #�.I�� (1 
������ 
�����

����� $���� .����- ������ G;B ,�
� .8�� *���� /���6 
������ ������1


������ ��� H�
�6�.


��������� $C
�� &���� (1 
������ ������ ��+�
�

3�3	&$�
�� (�� ������ )

�� $��B8�� *���� /���6 #���!�
��� ����������� 
�! ���� 
)
��� ��

�� #��� 8����"�B����) "#4 #��� *��;�"2���� "����! �� ����1 ����������J�

�
� ���!- >!)� �;�� ���� ����.

3�4���!"� *��

���� ��- #���� �������� 
����� 
����)�� ������ #4 GC-4 ����;*��


���
��)*�������'� (
������ *������ ���� ����
�)F���� �4 *����W� .(
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���
�� �������� 92



?
���
 
���� ������ ���� �� �
�� *�������< 
1�I< �� �;< #�����4


���� 
���� ������ ���� "�J1 *������'� U�� "�� *-�� �;< .

���� >�) 8��� ��
��� #�� 8��- ����:

3�4%����� *����+

�����1 ��I��� $���� E�C�� ����- ��
��� #�� ���
� F��< �B $����

���!
 (������ ������� ���� #����� �+W �
� #� *�������'� .&�
�

$����� /4� 0��I ���� ��� 
)���� *�������< ��� *��; $��B #4 $�;

��
�X� ��������� *�������'� G;B ������ /�N� 
���� 8������� ?F�+��

�B��L� ������ )�)���� A����� .

�����)3D2 :($����� #����


������ 8����� (1 ��P��� ���� $����� #���� 8�B�5� #�
�'� �����

��- 3�� �4 8���
 &�� $
� 
5�� 
���+ 
������� 
���� ���� #%�

,!- ����
 ��� 
1�=�� &��� (������ U����� E�!� ����- �4 "�� ������

���1 8���
 .���#� 
�1�� 
������� 
��� ,!- $����� ��!�� ���4 $�; ��!

3���� ����8���
�� �4�4#��
�!� ����� (��� 
1�=�� (1 8���
��

��� ����� (��� 
���+�� 
����� 
��
� 
-�
� E��!���.

���
�� � �
���+�� 
��������� *������� $����� #���� �B��5 ���� �;���

�� 
1���� ����� (1K
�)��� ����� (1 8���� #��� ����&�����:*������ #�
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�)��� ����� (1 ��4 ?��I��� ��
��� $����� ��- 
1���� ����� (1 ������

,!- ����� #� 
���� ��L 
�� � 
��) ����1 ��+���� ����� ������ #���

�� 6� �����
�� ���� 
����� &�
��� ������!� 
! �� ����� ��
���.��

0�� ���� �
��� ,!-.


��������� >-����� #� 
����!� ��;�� *����<

3�4'���,���� *����

#� C�� 
���
 
���� ������ ��
� &��� 
����� G;B (1#������� #����

#��
�C������� (1 ��� ?)3D3 ((1 
������ *������ &���� ���

����#��� &�
� &��
�� �
���
���
�� *������ ��4 ������ &;����� 8

"�- �����1 .�B��� ��������J��������I�� #- #��1,���,���� 8����

���!
 
����� 
������ ,��� ����� ������< 
�����.
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�����)3D3 :(���%���� #����

3�4)'��������-�

&��
�����'� ��+�
�0�%��� ���%���� �4 $����� ��
��� #�� #� >���!�

�� ��-� #�#�� ��� ���� 8��=� 
����� 8��� 
����� ���
� (��

����� (1 ��� ?0��+ (���� $!
 
)
��� &B;�� #� #���� �)3D4(?

>���� $�;�� ?���I�� #- #��-���� 
����� E��� #�� ���� #���� �����1

#���� 
�!�- #�.#� C�� ���!
 #���� �
� &��� ���%���� #���� (�1

�4 
������� 8����#- #��-����1 #�����
 #�� ���� 
���� ����1 C

����� (1 ��� ?���I��)3D5.(

�����)3D5 :(���%���� #����
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3�4�.�/���� *����

U�� "�� �+%� (��� 8���� .� #���� �
� E�C�� E�C���� #���� (1

��� T��� �I�4 #������ #��!�� #�� ��!� ��!���� 
������#- #��-����� 
�

���� (1 ��� ?���I���)3D6� 43D6&.(

)4      ()&(

�����)3D6 :(���� #����E�C

3�5����� *�
�$

/4 #4 8���- &���� #� #���#�����,���� 
�� #����=�q1
�������

q2
1�
� ������r�� #���;��� �4 #��1�����#��
������ #�����
�� #��

,)���� ����� /4 

 C����:

1 2

2

kq q

r
F)3D1(

��� ���k/��
� /;�� 
��������� 8���� *��� ,!-9 10
9
 N.m

2
/C

2 . 

�
 C��� G;B ,!- >!)�
� .
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*��� �;< #��1���� ����4 ��� ��1 #������� #�� 
�������� 8���� G���� ��4

8���'� E�� #� ��B�����?#��;������� �;<����� ?#���!�+� #�����< #� �

����� (1)3D7.(

#����)�� #������ 
���� 
 C��� G;B #4 ,�< "������ �����)�1����4 /4

F�+�� . �� #� ����� 8���� /4 ����4 
1��� ����
� 
���� #����=�?

����- ���� �;�	�0�
 ��
��(point charges)

q
r

F

+q

q

r

qF

#��!����� #����� #�� 8����#����� #�� 8����

#��
�����

�����)3D7( :����#���)�� #����� #�� 8

5�C���5�����#��!�� #�� 
��;���� 8� � 
��������� 8���� #��� #�� HI����

#����=�)��)��#�(:

1 2

2

m

r

Gm
F)3D2(

?
����)�� F���� "���� ,!- ��� ���#��
��;���� 8� *���G����� �=�4


��������� 8���� *��� #� k
��;���� #� ����� F� 4 8��+�� #4 (��� ���?
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*���������� *�������'�� 
��;�� 
������� ��
��� #�� 
���=�� (�1 �;���

L����� 
�������� 
��;���� 8� ���� ��� ?�B��.

����)3�2(:

K
��;���� 8� ,!- 
��������� 8���� >���� ��8� � 
��������� 8���� #�� #�� 

E�� ���� #%� ��!- #��������� 8�; (1 #������ #�����< #�� 
��;����


�����e(���� ������ 
1�
��� #4�0.5×10
10
 m�� ���+�
��*��)��


������:

me= 9.11 10
31
 kg�mp= 1.67 10

27
 kg�e=1.9 10

19
 C

���� :

��+�
�#�� C���)3D1 (�)3D2 (
��;���� 8� � 
��������� 8���� &�
��

&������ ,!- ���1:

9 2 2 19

1 2

2 10

9

(9×10 N.m /C )(1.6 10 C)

(0.5×10 m)

92.2 10 N

C

kq q
F

r

2

2

�
11 2 2 31 27

1 2

2 10 2

49

(6.67×10 N.m /kg )(9.1 10 kg)(1.67 10 kg)

(0.5×10 m)

40.5 10 N

G

Gmm
F

r

#��� $�;�:
49

9

40

40.5 10 N

92.2 10 N

0.4 10

G

C

F

F
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��;���� 8��1#������� #��P� �=�48���� #� ������ 8��


���������������!

4010

q C

���)3�3( :


����� ,!- 8��N��� 
��������� 8������q3����� (1)2D8 (
���� �����

#������� ����q1�q2#%� ��!-1 6�� 2 10q C

3
8q CK

F

q2

q1
q3

13F
23F

30 cm

20 cm

�����)3D8(

����:

&
����� ��N� (��� 8���� 6�4q1,!-q3���1:

9 2 2 6 6

13 2

(9 10 N.m /C )(6 10 C)( 10 10 C)
6N

(0.3m )
F

9 2 2 6 6

23 2

(9 10 N.m /C )(8 10 C)( 10 10 C)
18N

(0.2m )
F

���L���1 #��� #� 
!����� 
�� &
�� ��:
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2 2

13 23 36 324 19NF F F

��4
 C��� #� G���1 ��B����:

23

13

tan 3 72
F

F

3�62�������� ��!���


�I��� 
��;���� ����� ��� 
)����� 
�)���� ,!- U��� ��N� ��� �����

����/4 .I+U��� #� &�� �
�/4 #J1 ?
��;���� 8���
������N

�� (������ ����� �I�4 "� 
)����� 
�)���� ,!-
������� 8� "�- Y�

���� .I+�
� /4����� #����$��B .�Y����� (�������� ������ 0���

8��N��� 
��������� 8���� "�%� ��� )����� ��I���� 
)�� ��- �� 
��� #-


������ 
��������� *������ 8���� ,!-$��B 8������� .


��� ����� *��� �;J1Q8��� ��N�F
��� ,!-q���8��=� ���4 U�

*������ #� �B��L ,!- ��N�6 
����)
��� �
� ���!- >!)� �;���

����� (1 ��� 
������)3D94(?P� (�������� ������ #J1Q. �� ��-q


 C���� ,)��:

)3D3(
q

F
E

(�������� ������ "�����
���!Q�� 
���� *��� �;< ���- ������P�B�

���
 *��� �;<P����� (1 ��� ?
)3D7.(
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r

Q

q

r

+Q

q


���
 
���

���� 
���

)4()&(

�����)3D9(

3�7	�0�
 	
��� 2�������� ��!���


�)�� 
��� ����� #�� �;<QY����� (�������� ������ 
�� ����< .�)�
� ���J1


)�� ��- ���-
1�
� ���- ����r
���
�.�1������ "�4 U���� ,!-r

��� 
���
���q���� 
���� ���!- 8��N��� 
��������� 8���� &
���Q?

����� (1 ���)3D9(?&����:

2

kQq
F

r


 C��� &
���)3D3 (#4 ���:

)3D4(
2

F kQ
E

q r

/4 ?*������ 8����� 8� (B (�������� ������ 8��� #4 HI���� #��

N/C.
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#����
 C��� 
����)3D4 (������:

)3D5( qF E

*��� �;< G���6� E�� ������� 8��!� #4 ���� 5�C� ���q
���������

*��� �;< #�
����� #�B���� ����q
���
.

����)3�4(

�B����� 
���
 
�)�� 
��� #- Y����� (�������� ������ G����� 
�� ��

Q=1×10
4
 C���- ���� 
)�� ��-50 cm8��N��� 
��������� 8���� ��� K

����� 8��=� 
��� ,!-+4 CK

����:


 C��� #� ����
�)3D4 ((�������� ������ 
�� ����:

9 2 2 4
6

2 2

(9 10 N.m /C )(1 10 C)
3.6 10 N/C

(0.5m)

kQ
E

r

#4 ����Q�B��� "��� ������ #J1 
���
.

� ,!- 8��N��� 
��������� 8���� ��4
��q=+4 C�B���1 .I���� $�; (1


�����:

6 6
(4 10 C)(3.6 10 N/C)=14.4N

F
E F qE

q

��� /4 ?(�������� ������ G���� E��� 8���� G;B "����Q#�q
����?

#��;���� #��
����� #����� /4 #� (���) �;B�.
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����)3�5(

���
��� 0���� (1 
� �� 
)�� ��- Y����� (!��� (�������� ������#�� 
1

K8���'�� #��
������ 
������ #�����
�� #�����

����:

����B 
��� �� 
�� #4 U��q������ 
1�
��� #4�r����� (1 ��� ?)3D

10(
��� �� #- Y����� ������ 
�� &��� ;���- ?:

2

kq
E

r

E+

E ET

+q q

�����)3D10(

- Y����� ������ #4 ����� #� 5�C��?���- ����� "��� 
������ 
����� #

�B��� 
���
�� 
����� #- Y����� ������ "��� ����� .
!��� #��� $�;�

(B 
����� G;B (1 #�������:

2

2
2T

kq
E E

r

3�82�������� ��!��

���� 
��������� 
 �)�� ,!- ����� 
������� ��
��� �=�
� 0��

1�� 
���' ����!� K
������� �������+�
60��� #4 A���� 
���!��
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2��������
��������� 
 �)!� ����!� 8����� &�
��� 
!�
 
���- 
��� �B�

(������ ���� 
�)�� (1 "���� ��- #���� �
� ���!- ���� (��� .

"�!�� �
� /4 #4 
��;���� 

��� #� ��;�� �;B ����m��������� (1


��;��g�.I��2����� ,!-y�� H)
 #�.I� 
 �) &
��� U�


 C���� ,)��:

)3D6( gU mgy


!���� .I� 
 �) #4 ���� 5�C��m#��� .I�� ��-
����� ,!- �����

gy
��;���� ���� #- Y��� (��� .
 C��� 
���� ���� �;���)3D6 (������:

)3D7( g gU mV

���,-��Vg	��3�!�� ��! .
 C��� #� 5�C��)3D7 (,!- ��!�� ���4


��;���� ��� &�I� .I��� 
 �)�
��+�
������ 
)������ 
�!����/4

�"�!��m.

"���� �
� /4 #< ���� ����� E����q(������ ���� (1 �����E

������ ������ 
������� .I� 
 �) &
���
:

)3D8( elec elecU qV


������ 
����� ,-�� ���Velec2�������� ��!��.

���
��
 (��� .I��� 
 �) ���)�� �� .I�� (1 (�������� ����� 
1���1


���q$��B �B���� ��- .
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3�9%	�0�
 	
��� 2�������� ��!��

����� 0���
�)�� 
���� (��������q
 C����:

)3D9(
kQ

V
r

(scalar)

.

)3�6(

,!- 
�I����� �C��� 
�)���� *������ #- Y����� (!��� (�������� ����� ��

����� (1 ��� ?(
����� G���� (1 2CI�� /��
�� �!�� E�N�)3D

114(K

���� �B��(!��� (�������� ��

q2= -2 C

0.5 m

0.5 m

0.5 m
E3

E3E2

E1

q1=-2 C
E1

E2

q3=-2 C

�����)3D114(�����)3D11&(

����:

G���� "� E�!1 
���- 
��� (�������� ����� #4 ���.��- (!��� �����1 �� #��

������c#4 /4 ?$��B �C��� *������ #- 
������ ������ 2���� �B:
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1 2 3

9 2 2 6

1 2 3

1 2 3

(9×10 N.C /m )( 2×10 C)
3 3

(0.5m)

V V V V

kQ kQ kQ kQ

r r r r

108 V

1�B (!��� (�������� �����:
V k


!��� "�� ����� /��
�1 ������ 
)�� ��- (!��� (�������� ������ ��4

�C��� *�������E1�E2�E3����� (1 ���)3D11&) (#� >���

$�; .(

3�10*�� 4������!���2�������� ��!��� 2��������

������� 8���� ����� ����� �
����� 
�!)�� U��� &�
� (��� *��!)���� #�

�� ����< ���� #����� ��B��#�����- #����� ��B� 
 �)��� ������ ?#���� .

���� �����4*��!)�� #�
�'� 0��

���6� �B���6 
������1 *�����

8������5#����4	��3�!�� ��!��42�������� ��!����4��!��?�B��L� .

�� �;��� �N�
��� ��������� #%� $�6 K$�; #� 8������ ��� *������ G;B 0

#��� (���� >��)�� ����!� /�N� ��� ���+�
� 
��� .������ 0���1

8������� ��
��� ,!- 8��N��� 
��������� 8���� ,�< ������ "�� (��������

"�1 .����- "�4 $�;����� 
�� 0����� 2��� #- Y��� (������ ���� G

#���� �
� /4 ,!- 8��N��� 8���� ��� #4 ;���- ������ 
������� *�����


�)���� $!� (1 ����� ./4� �
��� �;B $����
 0�� 0��� �� #��

$�; ,�< ��� "����
 >��) .0������ (�������� ������ ��)-< �� �;��
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 C��� (1 ������ (I�����)3D5 (,��
��������� 8���� 
1��� #� #����

"�� .
������ #- 
���� 
���� 
��� (B #������� C� #4 5�C�� .

#���� �
� ���
�� (��� 
 �)�� 
1���� "��+�
�1 (�������� ����� ��4(1

�� ��� "�1 #��� .I�� .#������V/�N��� 
1�������
��� (��� 
 �)

;���- �
��� .� G;B (1 5�C������?#�����- ��B #������� #���B #4 


8����� ������ 0C+� .


 �)�� 
1��� (1 ���� ������ ?8���� 
1��� (1 ���� ������1 .&�
�� �;��

����� 8���� �� &�
� (1 ��
��4 &���� �������� (1 #������� #���B 0���.

3�11	$�0�� *�#5�� ��������


�!�+� 8���4 #�
�'� ��+�
�
��������� 
 �)�� #��+�����6 �����+�
6

&)��� 
��������� 8������ 
����� 
������� *����)��� #� ������ (1

�B��L� *��������'�� .

#��+��� 8���4 ���4 #��(��������6�����(capacitor)(1 ?0�%�� /;��

#������� #�������� #������� #������ #� ?"����4 )
�4������#

����� (1 HI�� �B ��� ?#��
������ #�����
��)3D12.(

�����)3D12 :(#������ /����� 0���

������ �����–
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"�1 0�) �� ��!��� #4 #��� (��� 
����� ������ 0����� ������),�
��

E���S�� �4electrode (������ "���� 
��
�� "����� ,!- ����� (����

�� >�1�
 C��� #� $�;� ?"���� "�!- >�)��� ���:

)3D10( Q CV


����� ,-�� ���C6����� 	 �(capacitance)������ ,!- ������

!�� #�� ������� )
���� 
�
�����#���.

*������ ��5� (1 
�
�� 8��� ,)���(�������������?����� (������!� 
�
�

�����1/?
�!���� *������� *��
 .� 
�������� 8���� 8����� G;B #4 6<

����1��������� ������� #� ����%� 8��P- *��
�� ,)�� $�;�� 
��+�
���

(10
6
)����1�������(10

9
)����1�������(10

12
)�;�B�.

��(��� #�� ������5��� G����-� #��� (������ ���� 0�����)*��� /4


�����G���6�� (!�� 0��)4 #- ������ 0����� �+��#���#4 U��� ?


��
�S�� ��A������ 
1�
��� .� 
�������� 8����dHI�� �B ��� ?

������)3D12 .(

*������ 8����� 
��� &
�� ���� (��� *������� #� 2���4 $��B�

G���4 8����� (1 ��� ?�B��L� �������� ������� 
���������.

*������� 2���4 U��

������ �����–
���
�� �������� 108



�� >��� ������� ������ 
�� )�����#���!�� #�� ���#��� 
)�
� 
 C��

&����� 0�)�� #� $���� 
���� 
�����+� 
��� ����� �� �������
�

#� ���!- ��;���� �=��� 
���� 
 �) &
�� ���4 5�C�1 &��
�� 0�)!�

��� 
��������� 8�������/4 ?#4:

W Fd qE

1 2W U U qV qV q

d

/4 ?#�1�)�� #�� 
����� .I� 
 �) (1 >���� /��
� 8���� �=� #���:

V

#4 ��� �� #��:
V

W qEd q V E
d

�4:
V

E
d

)3D11(

��� ���V� #�� ����� >�1 ,!-(��0�����V(1 
���
!�
������ .

>�
�� #� 
���)� ������� ���< 8��- ���� $�;���B���10 V>�1 #4 /4

���1�) #�� �����10 V.

����)3�7(

��� >��� G���� �;< #������ /����� 0��� 
�
��20 V"���� *���1

5 CK

����:
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��+�
�
 C���)3D10 (&����:

Q
Q CV C

V

��� �� #��#4:

75 C
2.5 10 F=0.25 F

20V
C

3�12.��$*�����-� 	
���*���&��� ��#�� 7�0$ 	��!�

�B #������ /����� 0��� (��� #�� (�������� ������ *����)� �B4 #�

#���!�� (�������� ��� �� 
)�
� 
���� �C+ #� #�����'� 
��� �����.

��5��

Z�+�

�����)3D13 :(���*���� 8�) 
�

������ HI�� �B ���)3D13(��� ?0��� (��� #�� *���� #� ;�;� [�

1#����*���� *��) 
��I�� Z�+��� 
���� �������� 
����?�������

8�) 
���

����� .>�)� �� �;J14)�
� 0����� (��� #�� ��� >�1 /
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����� ���%� *�� *��)���)���!- $����6� 8� ���BJ������� #�
��������


��������� 8���� .� .(#��*��)��� 
���� E���� ��� >�1 >��)��#���

?���!- 8��N��� 
��������� 8���� .� ����� /��
� ��- 8�)��� #��� #44/

���� ����-:

( / )elecF w qE mg q V d mg

#4 /4:
mgd

V
q)3D12(

���V���� >�1� #���!�� #�� �d������ 
1�
���  .

#4 ���!
 8��� ������< 8�� *��)��� #��� 
������ ������ #���!�� ��� � �


���8�) /4#� ����� ���- /��
�1.6×10
19
 C .#4 Y���
�1��

*�������'� #� ��- &�
��� �4 ��1 
���� #���� 8�) #4 ������ 
���

���� #�����<1.6×10
19
 C.

3D138�!��������

(1 �1���6 
���� 
�
 "� 0���� 
�!���� *����)��� (1 A���� �� �����

��!�- �B�� ��L� ���+��� .*������� #� ��- )��� ���� 
����� G;B (1


��!)��� 
�
�� ,!- ����!� &
��� ���� .

#�����) F��J� 8��- *������� )�� ����:

3�13%�������� 8�!2������ 9&:

!�� )��� ���S�!��� ��4 0���� &�����S�(����� &���� (���!� &��
��

!�� ���� #�� (1 ?�;�B� ���� &��
�S���&������ ��X�&��
��+X�
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1 ��������� >�#����!� 
��5��������� (1 ��� ?)3D14 .(#��

� E��� ��!� *������ #����
1 
����� G;B (1 "�4 HI����>���� #��� 
����

8���� �� 
�
 &
�� 
�!�+� ��� .

�/��
� G;B *������� 
-���� 
�
 #4 #�B���� #���\1��� 0��� 
�



 C���� ,)��:

)3D12(
1 2

1 1 1

eqC C C


�!�4 
�
 �=�4 #� �=�4 
�!��� 
�
�� #4 
������ G;B #� 5�C�� .�;���

�� ,!- *������� )���8��- 8��=� 
�
 ,!- ����!� (����.��B 5�C��

#�� ����� >��1 2���� /��
� \1����� 0����� (1�) #�� ����� >�1 #4

)�1 ����� 8���� /4 
��� /��
�1 "���� ��4 ?
������� *������� 0��)4.

C3 C2 C1

�����)3D14(

3D13&;#����� 9&: �������� 8�!

/������ ,!- *������� .�� (1����S���48���� 
�� #� ��!� *�������

��� ����� ����� &����� &)����S���(1 ��� ?&��
�� &)���� 
!������

�����)2D15(
 C���� ;���- 
��5���� 
�
 ,)��� ?:
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)3D13( 1 2eqC C C

C1

C3

C2

�����)3D15(

�4 5�C��
�
 ���4 #� ���4 8������ 
�
�� #4 
������ G;B #� �I .�;���

8��- 8���� *��
 ,!- ����!� /������ ,!- *������� )���.5�C� ���

��� *���� 2���� /��
� \1����� 0����� 
��� #4��
������� *������� ?

0��� �� 0��)4 #�� ����� ����� >�1 #���.

3�14��������� 	$�0��	�6��� 2< 	
#5��

���� �4 
���)���� ��� >�1 ���� 
)
��� 8��- 0����� #�� ���

(������ .!�� ��4 #� 
����� ��� ��� ���#���
 �) &!)�� �;B� �+W� ,�<

��+�
��� ������ #� .0����� (1 #�+�� �� 
 �)�� G;B .�I�6 .�)���� .

#��� ��� >�1 "� ����� ����+�
� �;J1V��� #���"��
 0C����


������� "���� ����Q���� �����+� (��� 
 �)�� #4 #�B���� #��� ;���-:

)3D14(
2

21 1 1
2 2 2

Q
U QV CV

C

������ (����� *������ ��5� (1 
 �)�� 8��� ,)������) .
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����)3�8(

"��
 0��� ����5 F���� 
���)��15 V���� �� ����� #�����

���-"��
 �+M 0��� .� /������ ,!- �����10 F#���� ��L.��

���� 
�1����� 
�
����� 
 �)�� ��
�!���� G;B (1 
���I�� 
�������K

����:

6�4 &
��&���1 ���� 0����� ,!- 
������ 
�����:

6(5 10 F)(15V) 75 CQ CV

"�1 
��+��� 
��������� "� �)�:

1 1
2 2

(75 C)(15V) 562.5 JU QV

1 2 15 FeqC C C

#W� :&
�� 
�1����� �����
 ���� /������ ,!- #������� ��� ��-


 C���)3D13:(

1 2 75 CTotalQ Q Q


���
� ��!� 
��5���� 
��� #��� �;� #���� ��L ������ 0����� #4 ����

#4 /4 ?���� 0����� 
����:

��� �;�� 
 �))���� ��� \1����� 0����,�< 
���
�:
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2 2

1 1
2 2

(75 C)
187.5 J

15 Feq

Q
U

C

562.5 187.5 375 JU U

#4 /4
���I�� 
 �)��:

19 19(1.6 10 C)(20V) 3.2 10 JKE qV

(20V) 20 eV

#������� ,!- *������ .���� 8��-' .�I� 8���� 
 �) G;B�.

���< *�����-� 7���eV

�4 #�����< 
 �) ����� 
������� 
��;�� �������� (1 ������ #��4 #�����4/

/�; �
�M
�
��� 8���� �+��� >�1 �C+ 2�
� ����-V����

*������ .>�1 0��� (����� #�� 2��
� C�� ������� #4 ��I��1� �;J1

������ �����20 V/��
� 
 �) &
��� ;���-:

&�
� ��� 8��=� 
 �)�� G;B #���#������� 
��� �=?&
����� #� �;�

#������� 
��� (��� #%� F�+4 8���� ���- ���� #4eU������ #� 6��

&���1 ?C�4 ��� 8������ ������� 8��� 
�6�� ���-:

KE qV e

�������� (1 "�!- 0����� �B�� �;B�
������� 
��;�� .
���
�� #� "�4 ���

��!� 8����� G;B ������4 #������� 
��� 
�� #4 
5�C�� ?���� #< ?�

#�����'�e/��
�1.6×10
19
 C
 �) /4 &�I� �;��P��� 8�)��eV

��� ,�< ������1 � ��� �;�� .#�����< 
 �) ���)-� �� C��17.5 eV�����

8����� &��� ������ �B����<:
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19 197.5 eV (7.5eV)(1.6 10 J / eV) 12 10 JE

3�15��! ;� *�< =���6

.��
�� ���� ����
�� 
 �)�� #�+� (��� 
��������� 8����� ���4� )
�4 #�

8��=��� 
������� ��
��� #� �B��L� *���������2�
�0��� /� #�1


�
�� "�����0��� /� #�1 (�������.

���� )��( ����

����

���-

(I�4


����� 
� 

�����)3D15 :(2�
�0��� /� #�1

����� HI���)3D15 (���� ���� ��� 2�
��� �;�� �)
�� ��;���

(�������
������� *���� ������)$���� ()���� #��
4 ,!- �����

8��!� (!+���� H)
!� ��!��� /;�� $������ ������ #� ���� (������


������� .2����� ��I�� #- �-���� ���J1 2���� E�� #� *������ #4 ����
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